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1. With the usual notations, obta.in the lbllowi[g equations fot a comrron
catenary.

(a) s = C tan.+,

(b) y =7"."r'
(c)T:ayt
(r1) y2 = 3z a 

"z

A uniforrn chain oflength l and weiglru I,y, hang5 Leha.cr,6 1\\,;61pd
poitts at the same level and a weight l4l2 is atiached at the lllid point
of the chain. If the sag at ttre middle is d, show that the tension of the
chait at each fixed point is
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If S and M are shearing force and bendiug momeol respeci,ively'at a

point of uniformly loaded beam, then prove that

where 0.,' is the weight per utii length of the boam

State the Bernoulli-I'luLer law oI flexurc.

A uniforrr elastic beam ,48 of length 3a and weight W is clamped

horizoni,ally at its ends, which are at thc sarne horizonl'al levr:I. Two

concentrated loads, tr4l and 2'tr4l are placed at the points of tris€ction of

the bcaln with smaller load near to,4. Show that ],he rcaction at A ald
95W . r2\W

B areft un,i i1 1c5po(r ively. Firrd also Ihc bPndilre rnorrrcnr al

each points.
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